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General Awareness
1). How many policies does the institutional
mechanism of federalism accommodate?

(a) Three (b) Two (c) Four (d) One

2). The narrow zone of contact between the
lithosphere, hydrosphere and atmosphere where
natural vegetation and wildlife exist is called the

(a) Geosphere (b) Biosphere (c) Troposphere
(d) Exosphere

3). Which economist developed international
trade theory in 1817 based on comparative
advantage and specialisation?

(a) Paul Krugman (b) Milton Friedman
(c) Gary Becker (d) David Ricardo

4). Who became the Nawab of Bengal after the
death of Alivardi Khan in 17567

(a) Sujan Khan (b) Murshid Quli Khan
(c) Siraj ud-Daulah (d) Mir Jafar

5). Which of the following metals in pure form has
the highest melting point?

(a) Gold (b) Tungsten (c) Copper (d) Platinum

6). Which Commission was appointed by the
central government to examine issues related to
Centre-State relations?

(a) Sarkaria Commission (b) Mandal Commission

(c) Nanavati Commission (d) Kothari Commission

7). In which year did King George V assume the
crown of India?

(a) 1917 (b) 1906 (c) 1923 (d) 1911

8). Which river has tributaries by the name of Dri,
Mathun, Talon, Eme, Ahi, Emra and Awa?

(a) Kaveri (b) Dibang (c) Lohit (d) Godavari
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9). In which year was the 'National Food for Work
Programme' launched in India?

(a) 2002 (b) 1991 (c) 2004 (d) 2000

10). ‘Leshalaptu’ is a folk dance of which Indian
state?

(a) Nagaland (b) Kerala (c) Goa (d) Karnataka

11). Which of the following is the outer layer of the
Earth that is made of plates which fit together
like a jigsaw puzzle?

(a) Mesosphere (b) Asthenosphere
(c) Biosphere (d) Lithosphere

12). Which one of the following can be
categorised as a solution?

(a) Salt (b) Diamond (c) Sea Water (d) Coal

13). The pouch connected to the junction of the
small intestine and the large intestine is called

(a) caecum (b) coccyx (c) condyle (d) axilla

14). As per the Constitution of India, the subject of
'livestock and animal husbandry' is included in
which list?

(a) Residuary List (b) Concurrent List
(c) Union List (d) State List

15). Which of the following Indian cities is
included in the list of 'UNESCO World Heritage
Sites'?

(a) Srinagar (b) Hyderabad (c¢) Murshidabad
(d) Ahmedabad

16). When is International Nelson Mandela Day
celebrated?

(@) 15 July (b) 19 July (c) 17 July (d) 18 July
17). In which of the following states is ‘Me-Dam-

Me-Phi' the festival of ancestor worship
celebrated?



(a) Madhya Pradesh (b) Assam (c) Odisha
(d) Chhattisgarh

18). Which mineral is also known as 'fool's gold'?

(a) Fluorite (b) Pyrite (c) Magnetite (d) Quartz

19). Where has Kharchi Puja been organized
recently?

(a) Assam (b) Tripura (c) Manipur (d) Mizoram

20). Recently, which medal did Sabira Harris win
in the Shotgun Junior World Cup in ltaly?

(a) Gold (b) Silver (c) Bronze

(d) None of these

21). What kind of relationship exists between
income and demand in case of normal goods?

(a) There is no impact of income on demand.
(b) There is a direct relationship.
(c) There is an inverse relationship.

(d) Sometimes there is a direct and sometimes an
inverse relationship.

22). Which substance covers the root of the
tooth?

(a) Dentin (b) Enamel (c) Pulp (d) Cementum

23). Which chemical law proposes that 'soft drinks
and soda bottles are sealed under high pressure
to increase the solubility of CO2'?

(a) Dalton’s law (b) Henry's law (c) Ohm's law
(d) Raoult’s law

24). Which Governor-General of India, in 1772,
introduced two courts in each district — a
criminal court (faujdari adalat) and a civil court
(diwani adalat)?

(a) Robert Clive (b) Richard Wellesley
(c) Warren Hastings (d) Lord Dalhousie

25). Where will the second regional program on
'Our Constitution Our Respect' be organized
recently?

(a) Mumbai (b) New Delhi (c) Prayagraj
(d) Chennai

26). Who became the first Indian male squash
player to enter the top 10 in the PSA world
rankings?

(a) Mahesh Mangaonkar (b) Ramit Tandon
(c) Cyrus Poncha (d) Saurav Ghosal

27). What is the primary function of the eccrine
glands?

(a) To produce growth hormones
(b) To produce colour of the skin

(c) To produce sweat (d) To produce body hair

28). Who is the first Indian rower to win a gold at
the Asian Games in the year 20107

(a) Sawarn Singh (b) Dattu Baban Bhokanal
(c) Bajrang Lal Takhar (d) Dushyant Chauhan

29). The breaking up and decay of exposed rocks
by temperature changes, frost action, plants,
animals and human activity is called

(a) smelting (b) erosion (c) weathering

(d) deforestation

30). Which explorer discovered a sea route to
India in 14987

(a) Vasco da Gama (b) Marco Polo
(c) Thomas Coryat (d) Megasthenes

31). Which one of the following is a distinctive
characteristic of angiosperm?

(a) Thick bark (b) Concealed seeds
(c) Long leaf (d) Small roots

32). 'ACentury Is Not Enough' is an
autobiography of ;

(a) Rahul Dravid (b) Sachin Tendulkar
(c) Anil Kumble (d) Sourav Ganguly

33). In which year, was the first-ever motion to
remove a Supreme Court Justice signed, by 108
members of the Parliament?

(a) 1996 (b) 1978 (c) 1984 (d) 1991

34). Who is the author of the book 'The Free
Voice: On Democracy, Culture and the Nation'?

(a) Barkha Dutt (b) Rahul Kanwal

(c) Ravish Kumar (d) Arnab Goswami



35). Recently, Gitanas Nauseda has taken oath
for the second time as the President of which
country?

(a) New Zealand (b) Lithuania (c) Belarus
(d) Jordan

36). Which of the following is an international
agreement between governments that aims to
ensure that international trade in specimens of
wild animals and plants does not threaten their
survival?

(a) BRICS (b) CITES (c) GATS (d) OPEC

37). Which article of the Constitution of India
states that 'all authorities, civil and judicial, in the
territory of India shall act in aid of the Supreme
Court'?

(a) Article 157  (b) Article 137  (c) Article 121
(d) Article 144

38). Which mineral is popularly known as 'buried
sunshine'?

(a) Coal (b)Bauxite (c)Mica (d) Iron

39). 'Ali-Aye-Ligang', a spring festival, is
associated with which state?

(a) Sikkim (b) Bihar (¢) Assam (d) Odisha

40). Who became the first player of Indian origin
to play in an NBA game?

(a) Palpreet Singh (b) Satnam Singh
(c) Sim Bhullar (d) Amjyot Singh

41). Which muscles in the skin contract to make
the hairs on our skin stand up straight
(goosebumps) when we are cold or frightened?

(a) Elastin  (b) Epidermis (c) Arrector pili
(d) Collagen

42). How many tiers are there in the Panchayati
Raj structure?

(a) Five (b) Three (c)Two (d) Four

43). Edwin Lutyens and Herbert Baker are two
architects credited to have designed the city of

(a) New Delhi (b) Chandigarh
(c) Allahabad (Prayagraj) (d) Raipur

44). In the plant kingdom, 'Ferns and Fern allies'
belong to which group?

(a) Bryophyta (b) Gymnosperms (c) Thallophyta
(d) Pteridophyta

45). Who ruled Mysore under a subsidiary
alliance with the British after the defeat of Tipu
Sultan at the Battle of Seringapatam?

(a) Gangas (b) Kadambas (c) Pandyans
(d) Wodeyars

46). 'Jnanpith Award', one of India's highest
literary awards, was conceived in which year?

(a) 1957 (b) 1969 (c) 1961 (d) 1972

47). Representatives of the Maratha Empire and
the British East India Company signed the
'Treaty of Salbai' in which year?

(@) 1782 (b) 1769 (c) 1771 (d) 1758

48). In polar regions like Alaska and Northern
Canada, a splendid display of colours is seen in
the sky which is called a/an

(a) star's intrinsic luminosity (b) star shower

(c) active galactic nucleus (d) aurora borealis

49). According to the recent UN report, the
population of which country will start decreasing
in the next 38 years?

(a) China (b) Japan (c)India (d} ltaly

50). The 'Hemis Tsechu' festival commemorates
the birth anniversary of

(a) Adi Shankaracharya
(b) Guru Padmasambhava (c¢) Dalai Lama
(d) Gautama Buddha

Arithmetic

1). Directions: Study the given information
carefully and answer the questions that follow—

A store contains 4 red, 3 blue, 6 green Ball. If
two balls are picked at random, what is the
probability that both are blue?

(@) 5/36 (b) 1/19 (c) 1/26 (d) 1/17



2). In how many different ways, can the letters of
the word DESIGN be arranged so that the
vowels are at the two ends?

(a)48 (b)72 (c)36 (d)24

3). Ifthe height of a given cone becomes four
times and the radius of the base becomes twice,
then what is the ratio of the volume of the given
cone and the volume of the new cone?

(a)1:4 (b)1:8 (c)1:16 (d)1:32

4). What is the total surface area (in cm2) ofa
cylinder having radius of base as 7 cm and
height as 15 cm?

(a)814 (b)616 (c) 968 (d) 780

The table given below shows the percentage of
people reading different types of newspapers in
a society. It also shows the average number of
males and females for each newspaper.

Each person actually reads only one newspaper.

The total number of people in the society is
20000.

Newspaper | % of people | Male : Female
A 309 2
B 20% 2:3
C 1606 3:5
D 12% 1:2
E 22% 4:7

5).

For which two newspaper the number of

females reading them is same?
(a)DandE (b)CandE (c)AandB
(d)Aand C

6). What is difference in number of males reading
newspaper B and number of males reading
newspaper D?

(a) 1600 (b) 2000 (c) 2400 (d) 800

7). How many females read newspaper A?

(a) 3600 (b) 3200 (c) 2400 (d) 2800

8). The ratio of water and alcohol in a mixture is
1:3. If 6 liters of water is added to mixture the
ratio becomes 2:5. The quantity of new mixture
is:

(a) 105 litres  (b) 100 litres (c) 30 litres
(d) 20 litres

%) If 1 it i thEvalin B
x + — = 3 then find the value of 4 +—

X o
is:

(@) 125 (b) 127 (c)123 (d) 129

10). Ajar of milk is 3/4 full. When 2 liters of milk is
drawn from it, it remains 7/12 full. The capacity
of the jar is:

(a) 10 liters (b) 12 liters (c) 15 liters  (d) 9 liters

11). In an examination, 49% students failed in
English, 36% students failed in Hindi while 15%
failed in both. If total number of passed students
is 450, how many students did appear in the
examination?

(a) 1800 (b) 2000 (c) 1100 (d) 1500

12). What is the difference between compound
Interest and simple Interest for 2 year on the
sum of Rs. 1250 at 4% pa?

(aA)Rs.3 (b)Rs.4 (c)Rs.2 (d)Rs.8

13). Sanjeev was driving a car in the fog. He
passed a pedestrian who was walking at the
rate of 2 km/h in the same direction. The
pedestrian could see the car for 6 min
and upto a distance of 0.6 km. What was the
speed of the car?

(a) 8 km/h (b) 10 km/h (c) 6 km/h (d) 12 km/h

14). What would be the compound interest
obtained on an amount of 8800 at the rate of
16% per annum after 2 years?

(a) 3041.28 (b) 3675.46 (c) 3576.48
(d) 4232.46

15). (13+23+3%3+ ... +93 +10%is equal to

(a) 3575 (b) 2525 (c) 5075 (d) 3025

16). The least multiple of 7 which when divided by
4,5, 8 and 10 leaves 3 as remainder in each
case is

(@) 210 (b) 217 (c) 203 (d) 196

17). Atrain 100 m long is running at the speed of
30 km/hr. The time (in second) in which it will
pass a man standing near the railway line is :

(@) 10 (b)1 (c)12 (d) 15



18). The value of 000223 L a0gis
509"

(a) 990809 (b) 998996 (c) 999824 (d) 998999

19). Two stations A and B are 770 km apart. Two
trains P and Q starts from stations A and B at
the same time with speeds of 72 km/hr and
60km/hr respectively. Both the trains take a 15
minute halt after travelling for an hour. Find the
distance travelled by train P, when trains P and
Q meet.

(a) 350 km (b) 220 km (c) 390 km (d) 420 km

20). The batting average of a cricket player for 64
innings is 62 runs. His highest score exceeds
his lowest score by 180 runs. Excluding these
two innings, the average of remaining innings
becomes 60 runs. What is his highest score?

(a) 180 runs (b) 209 runs (c) 212 runs
(d) 214 runs

21). 18 persons working 8 hours a day can
complete 3 units of works in 10 days. How many
persons are required to complete 5 units of that
work in 16 days working 6 hours a day?

(@)25 (b)15 (c)20 (d)9

22). If a shopkeeper blends two varieties of
pulses, one costing Rs 40per kg and the other at
Rs 45 per kg in the ratio 3 :2. If he sells the
blended variety at Rs 50.4 per kg then his gain
percent is:

(a) 10 (b) 20 (C}zzi (d)ﬁj__:

23). Parth has lent some money to Rohit at 10%
p.a. and the Shyam at 8% p.a. At the end of the
year, he has gained the overall interest at 9%
p-a. Find the ratio of money he had given to
Rohit and Shyam.

(@1:1 (0)2:3 (c)1:3 (d)3:5

24). A can finish (1 )" part of a work in 4 days, B

can finish the (1 )th part of work in 5 days. If they
work together, t}ten in how many days they can
complete the whole work?

(a)12 (b)30 (c)20 (d)15

25). The monthly income of a person was Rs.
15,600 and his monthly expenditure was Rs.
7,800. Next year his income increased by 12%
and his expenditure increases by 6%. The
percent increase in his savings was:

(a)22% (b)6% (c)18% (d) 15%

26). Rs. 810 divided among P, Q and R in such a
mannerthatP: Q=8:7and Q: R=11:15.
What is P's share?

(a) Rs. 241 (b)Rs.264 (c)Rs.256 (d)Rs. 234

27). The average weight of 3 girls P, Q and R is
92 kg. Another girl S joins the group and the
average now becomes 88 kg. If another girl T
whose weight is 3 kg more than that of S,
replaces Q then average weightof P, R, Sand T
becomes 87 kg. What is the weight of Q7

(a)85kg (b)80kg (c)83kg (d)87 kg

28). A manufacturer fixes his selling price at 27%
over the cost of production. If cost of production
goes up by 17% and manufacturer raises his
price by 12%, his percentage profit is —

(@3312% (0)31% (c)27 3%
37 35

67
117

(d) 21

O

29). Abus agency has 4830 buses. He sold some
buses at 11% profit, some other buses at 9%
loss and rest at 19% profit. Thus, he gains 3%
on the sale of the first two types and 7% on the
last two types. What is the number of buses sold
of the third type?

(a) 1680 (b) 1260 (c) 1890 (d) 1620

30). Ramdev sold a book at 20% profit. If he had
purchased it in Rs 600 |less and sold it Rs 600
less there would be 5% more profit. Find C.P. of
the book.

(a) Rs. 2500 (b) Rs. 3000 (c) Rs. 3500
(d) Rs. 4000

31). What is the greatest possible rate at which a
man can walk 57 km and 95 km in an exact
number of minutes?

(a) 11 km/min  (b) 13 km/min  (c) 17 km/min
(d) 19 km/min

32). The product of three consecutive natural
numbers, the first of which is an even number,
will always be divisible by:

(@) 12 (b)24 (c)6 (d)All of these

33). fa+b+c=19,ab + bc+ ca= 120, then
what is the value of a3 + b® +c® - 3abc?



(a)31 (b)23 (c)19 (d)18

34). There are total 200 students in a school, of
which E,}, are boys. First the number of girls in
5

the sch;)ol.

(a) 100 (b)60 (c) 120 (d) 80

3%). . 8+23
If V2 = 3/3 — b, then the value of a +
3/3+5

b is equal to:

(a)16 (b) 15 (c)18 (d) 24

General Intelligence & reasoning

Direction: Study the following information
carefully and answer the given questions:

A word and number arrangement machine when
given an input line of words and numbers
rearranges them following a particular rule in
each step. The following is an illustration of input
and rearrangement. (All numbers are two-digit
numbers.)

Input: good for everything 19 37 26 all 65

Step I: all good for everything 19 37 26 65

Step II: all 65 good for everything 19 37 26
Step llI: all 65 everything good for 19 37 26
Step IV: all 65 everything 37 good for 19 26
Step V: all 65 everything 37 for good 19 26
Step VI all 65 everything 37 for 26 good 19
Step VI is the last step of the rearrangement as
the desired arrangement is reached. As per the
rules followed in the above steps, find out in
each of the following questions the appropriate
step for the given input. (All numbers are two-
digit numbers.)

1). Step lll of an input is: car 81 desk 15 42 39 tall
more:
Which of the following will be Step VI?

(a) car 81 desk 42 39 15 tall more
(b) car 81 desk 42 15 39 tall more
(c) car 81 desk 42 more 39 15 tall

(d) There will be no such step.

2). Als three times as old as B. C was twice-as
old as A four years ago. In four years’ time, A will
be 31. What are the present ages of Band C ?

(a) 9,46 (b)9,50 (c)10,46 (d) 10,50

3). Astudent walked out from the Classroom
towards the Library. She went first to the
Canteen on the left side, 24 ft away. After a cup
of tea, took a right turn and went to the
Laboratory 13 ft away. She then went to the
Physics Block, 15 ft to the left. She talked to a
friend, in the garden 3 ft. on the left and

continued walking in the same direction to
the Library, 10 ft more. What was the actual
distance between the Library and the
Classroom?

(a)421ft. (b)66ft. (c)39ft. (d)34ft.

4). If 27th December 2009 was a Thursday, then
what day of the week was it on 1st March 20107

(a) Thursday (b) Friday (c) Sunday
(d) Monday

5). In the following question, select the related
group of letters from the given alternatives:

TZ:GA:zQR:?

(@Jl (b)TZ (c)RS (d)NQ

6). Ayush was born two years after his father's
marriage. His mother is five years younger than
his father but 20 years older than Ayush who is
10 years old. At what age did the father get
married?

(a) 23 years (b) 25 years (c) 33 years
(d) 35 years

7). Amit's house is to the east of Ankit's house.
Suman's house is to the south of Amit's house.
Raman's house is to the east of Amit's house. In
which direction, is Raman's house with respect
to Suman’s house?

(a) East (b) South-east (c) North-east
(d) South

8). Aboy leaves his school and travels 8 km
towards the east. He takes a left turn and travels
6 km in that direction, and then turns towards
the east and travels another 5 km. Finally, he
turns right and travels 10 km. In which direction,
is he now from his school?

(a) South-East (b) West (c) East
(d) North-East

9). Apiece of paper is folded and punched as
shown below in the question figure. From the
given answer figures, indicate how it will appear
when opened?

/LW | g




[~

10). From the given answer figures, select the
one in which the question figure is hidden/
embedded.

7

(a) Y (b) (c) y

(d)

11). Which answer figure will complete the pattern
in the question figure?

(a) K& (b)Q-\ (c) "\:'1

(d)'!

12). A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.

GD, DI, AP, XY, ?

(@ UH (b)IU (c)ST (d)UJ

13). figure will complete the pattern in the
question figure?

i
\

3

(@ (b) (c)

(d)

14). A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.

AD, CE, EF, GG, ?

@l ()l (c)IH (d) HI

15). Look at this series: 8, 6, 9, 23, 87, ... What
number should come next?

(a)128  (b) 226 (c)324  (d)429

16). A bird shooter was asked how many birds he
had in the bag. He replied that there were all
sparrows but six, all pigeons but six, and all
ducks but six. How many birds he had in the bag
in all?

(@9 (b)18 (c)27 (d)36

17). Direction: The following questions consists of
a question followed by three statements |, Il and
I1l. You have to decide whether the data given in
the statements are sufficient for answering the
question. Read all the statements carefully and
seek all the possible combinations which could
be sufficient for answering the question.

Towards which direction is Q standing with
respect to P?

I. T is standing to the west of P and to the north
of S.

1. R is standing to the east of Q and to the south
of S.

lll. U is standing to the south west of P and to
the south of Q.

(@Al I, lland Il (b) Only Il is sufficient
(c) Bothland Il (d) Both I and 1lI

18). Select the option in which the number one
related in the same way as are the numbers of
the following set.

Q. (35, 14, 441)



(a) (34, 25, 81) (b) (24, 25, 35) (c) (21, 45, 441)
(d) (95, 101, 49)

19). Select the related word from the given
alternatives.

Clock : Time :: Thermometer : ?
(a) Heat (b) Radiation (c) Energy

(d) Temperature

20). In the following question, select the odd letter
group from the given alternatives.

(a) NAPTA (b) BMIAUM (c) AMDARS
(d) PLNAE

21). Select the option that will correctly replace
the question mark (?) in the series.

15,19, 35,71, 7

(a) 125 (b) 141 (c) 145 (d) 135

22). In the following diagram, the triangle
represents 'rich’, the Circle represents 'Farmer’
and the rectangle represents 'rural’. The

numbers in different segments show the number
of persons.

How many rich Farmers are not rural?

(@8 (b)d (c)12 (d)7

23). Which number will replace the question mark
(?) in the following series?

2,5,10,17, 26, 37, ?, 65, 82, 101

(a) 48 (b) 42 (c) 50 (d) 49

24). Select the option which is embedded in the
figure given below.

(@ ‘ o7 e

(@ | >

25). In a certain code language, CERTAIN is
written as DFSUBJOQO, then in the same code
language, SUMMER will be written as

(a) TUNMFS (b) TYNNFS (c) TVNNFT
(d) RVNNFS

26). Select the missing number from the given
options.

18 | 28 | 50
17 ] 13 | 11

26127 | ?

(@) 29 (b) 61 (c) 30 (d) 36

27). Pointing to a man, Pallavi said, “he is married
to my cousin’s mother Natasha". How is
Natasha related to Pallavi?

(a) Aunty (b) Sister-in-law (c) Mother
(d) Mother-in-law

28). '‘A+ B'means that A is the father of B, ‘A-B’
means that A is the wife of B, ‘A B' means that A
is the brother of B, ‘A B’ means that A is the
daughter of B. If it is given P R + Q, which of the
following is true?

(a) P is the father of Q.

(b) P is the grandfather of Q.
(c) Pisthe uncle of Q.

(d) P is the brother-in-law of Q.

29). Select the option that is related to the fifth
number in the same way as the second number
is related to the first number and the fourth
number is related to the third number.

16:128 :18:162::22:7
(a) 246 (b) 242 (c) 484 (d) 88

30). Select the Venn diagram that best represents
the relationship between the following classes.

Fiber, Cotton, Jute



(a) (b) (c) @D

@ 000

31). Select the option that will fill in the blank and
complete the given series.

6, 10, 19, 35, 60,

(a)98 (b)95 (c)93 (d)96

32). In a certain language, if ABIDE is written
as 14811625, then how will CAGED be written
as in that language?

(a) 91492516 (b) 91416514 (c) 61492516
(d) 81493514

33). If:
A3B means A is daughter of B

A5B means A is father of B
A7B means A is mother of B

A9B means A is wife of B

If L3H715J9K, then How K is related to H?

(a) Grand Son-in-law (b) Uncle (c) Son-in-law
(d) Son

34). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow
from the statements.

Statements:

1) All parakeets are cuckoos.
2) All cuckoos are rabbits.

3) All rabbits are snakes.

Conclusion:

I. All parakeets are snakes.

Il. All snakes are cuckoos.

[ll. All rabbits are parakeets.

IV. All cuckoos are snakes.
(a) Only conclusions | and IV follow.
(b) All the conclusions follow.
(c) Only conclusions | and Il follow.

(d) Only conclusions Il and Ill follow.

35). Four letter-cluster have been given, out of
which, three are alike in some manner and one
is different. Select the odd letter cluster.

(a) BJT (b) GCV (c) DDP (d) FBL



